AP Physics – Magnetism 3 LP
Charged Particle in magnetic Field
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Field is into the board,  Right hand rule:


Force is to center

Particle follows circular path

v direction changes, but not magnitude 

Mag force causes centripetal acceleration
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   equal to mag Force
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radius of path  (   to momentum of particle  



mv

If initial direction of v not perpendicular to B


Some angle (
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Path follows spiral   or Helix

· Proton moves in circular orbit of radius 15.0 cm in uniform magnetic field of 0.500 T.  If v is perpendicular to field, find speed of proton.
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